Uni+ H Review AL

AP STAT- Ch. 4 and Ch, 5 practice
1} Usethe followmg data: {5 7,8, 10 12, 15, 17, 20, 30, 31/22 25, 28, 33, 34, 35, 39, 40} (list Quesl)

a. Find the Mean Medlan, Range, IQR, and Standard deviation. M eof/ue-ww H3
X 22,8 an%eﬂ(zo o> L
b. Create a boxplot of the data Tae C 3. ‘02) - &U
. . . Sx. T 153
¢. Suppose we add the data point 62 to this set of data. Indicate how éach of the statistics in part (a)
would change: increase, decrease, or stay about the same. Medho,.. A5

, , — Rovse (G2~ S)= 57
E'\fg')\\/—t;{'*-w’*ﬂ trweatel Licagane X = AN, ? - t,?? (i ( SH - JJ) -

ok
2] The following are quiz scores from two Algebra 1 Classes, Sx 12,9 “7
Class 1: {68, 93, 53, 100, 77, 86, 91, 88, 72, 74, 66, 82} and  Class 2: {77, 91, 82, 68, 75, 72, 85, 65, 70, 79, 94, 86)
a. Compare the means of the claTs 5COres. ‘;Nhlch wgu;ld you rather be m"-' _
o [P S‘Ole e g e 2 m - 7
= 79, | FlEre g Y [ thle o{'ﬂ’rwme /3,47
b. Compare the standard deviations, Whlch class was more consistent in the1r scores?
- C,/Lt\.» ERY Lo Frigl b { -
g)( ‘\J|~....\G- 08 ek "‘ '”trl(’a._‘. S e SX - C? lq
3) Based solely on the mean aind median glven decide on the shape of the distribution, and what measure of
center and spread you would report.
(a} Mean =100 {b) Mean =20 {c} Mean =934
Median = 98 N Median =41 Median = 850' ‘ | 4
o /C&M? L s o
f\)@tx-\,ak 1> wwu‘fw - SKeone of ((g—{- J 7 .
nee o Mo & bayles ¢
G Yo i ~-’\¢-~'-:-é‘“ Oubilidns ale Lie pee elom, i
el oy the o Come btx,\,ew war \
4) Use the following set of data: P I T S P R U A w/€ o
{3,4,4,4,5,6,6,7,8,10,11, 11, 16, 17,|20 25 2%?30 31‘?3{45 9 168473} (list Quesd) ALl e o
NE J -4_.«\&‘,
a. Llook at (not draw] a histogram of the data (just use Zoom 9, no need to adjust the window). S

b. Describe the dlstrlbutloh (be sure to use the correct measure of center and spread)

' !
P’ﬂg OLLQL\ALLA- B o R L. ,.,,{ ?‘-(? /'Va( _kru,:?n(

c. Are there any outliers present? Justrfy your answer.

“Zf
Tz 3°.5-6 = 2H. 5 30,Q+QL{.5 = &5

Gy
5) Give a set of number% that would have a standard de\natlor’r’of 0

73
o\reou-l;l:@
HoHH L g N

6) The Presidents of the USA and their Age of Death (list PRES). Look at the) Relatave Frequencv Histogram
and describe the distribution.

189 |a
o 16.2 |m
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Presidents Ages of Death

Description:
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Name:

Chapter 16 Worksheet #2 and Notes on Histograms and Box and Whisker Plots Algebra, Mrs. Slack-
Joles

1) Using the data below, complete the frequency table.

DATA: 36, 32, 1, 15/40! 3, 16/ 28 12/33, 1319/ 36,1228 15,36, }1,57. 17 .27 34, 36
Number| Tally |Frequency
RIENY/Za e

e e, -

L
3138 L L
36-40 |4y (0,

Ao

2)  The testscores for 10 students in Ms. Sampson's homeroom were 61, 67, 81, 83, 87, 88, 89, 90,
98, and 100. Which frequency table is accurate for this set of data?

Interval |Frequency Interval |Frequency
61-70 2 61-70 2

A) [ 71-80 2 C) [ 71-80 2
81-90 8 81-90 7
91-100 10 91-100 10
Interval [Frequency Interval |Frequency

61-70 ? 61-70 2
B)\ [ 71-80 0 D) [71-80 0
81-90 6 81-90 8
—-" 191-100 2 91-100 10
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3)  The graph below shows the distribution of scores of 30 students on a mathematics test.

Distribution of Math Test Scores

[\

- -
(=]

Number of Students
E- e e :

.
B )
,\1\’ q;\’

Test Scores

'\I

Complete the frequency table below using the data in the frequency histogram shown.

Slﬁi < | Frequency
91-100 | _7
81-90 Il
71-80 | /2
61-70

5160 | 5
750 | 3

4)  The scores on a mathematics test were}ffﬁs/, 61, 80, 85/ 74, 68, 4{?‘ 6€, and §4. Complete

the accompanying table, and use the table to construct a frequency ram for these scores.

Zoores
9
Score| Tally |Frequency ‘§
4049 / / N
50-59 | / / N
60-69|// 2 Lt
70-79/// 3
80-89|/// 3
3 /?/'/ e o e
e I ION B
s il Il e e A
v R ER

Yo- So- go- fo- b
47 57 o7 79 89

L ey oA
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5}  Which one of the following histograms represents the data in the table below?
Interval | Frequency
4-8 8
9-13 3
14-18 10
19-23 5
12 127
=104 =101
£ 8] 2 8]
3 6- 3 54
R E 0 g8
2 " 2]
ONZ5 o135 1418 1923 ON75 53 14181923
Interval Interval
12 123
104 104
£ o] T
S 61 2 61
W Ed g :
w 2: . 2:
ON3F 513 1418193 OSN35 93 14181923
Interval Interval
6) The following data consists of the weights, in pounds, of 24 high school students: 195, 206, 100,

150, 0,1‘9\5,16,19@18, 0, 2,1‘@{1,1&5,1&0, 6, 99, 296, NG, 142, 100, 135,
B T T o 15T T2 6,59, 206, N6, 142, 10, 19

Using this data, complete the accompanying cumulative frequency table and construct a cumulative

frequency histogram on the gri low. '
q y histog the grid belo /\)6—/3 o
. bN
Interval { Frequency %?gﬂ':ﬁ'gf J
51-100 (2441 s 5 § (;.':’/’
10115000 jf | 7 /| o T
151-200 s /71 « g
201-250 pedd . ALY WA A
- 12l 7 R/ \\_ J A4
-",,. J .r;, g (’,’ i
02- / by ,;\{;} £ !'jf :;, ’ ¢ f.,-‘"
( Z !Il'ﬁ-." ,4} '.u'l,;) ,r”, 7
Y T ] [
1717 LA A LA AL 47
s/ lol- 151 Jo /-
joo 156 oo 50
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7)  The accompanying table shows the weights, in pounds, for the students in an algebra class. Using
the data, complete the cumulative frequency table and construct a cumulative frequency histogram

on the grid below. (39

1%
/l/ ]
{7
Int 1 E Cumulative /] !
nierva requency Frequency . ’/
ZTN7T
91-100 6 ‘£ g) e
101-110 3 ¢ A
111-120 0 9 Qg VA
A LN 'Y :
121-130 3 /02 '/“ /A, //// ’
131-140] 4 /& b YA ]
£ 1 47
141-150 2 /g TV AN -
151-160 2 J0 AVIN 2 A% -
S /ff l’/ / -7 /[. :’,’ r; S
(Qo "f{; l/ . ,/y/."//' 1
A LA VAV REED
4 At At

G- for= [t f2i- (31 [ 151
102 110 20 [30 /4> i50 160

8)  The accompanying diagram is an example of which type of graph?

..........................

A) bargraph @-and-whiskm
D

B) histogram stem-and-leaf plot

9)  Given the following data:
10,8, 918,19, 18, 20, 16, 21,22, 16 g9 10 /5 /7 /9 17 2y iy

Which of the following is the box-and-whisker graph for this data?

A 1 H @ H

FTTTT T TP T T I I JTTTTTTTTIT I YT Irrrr

10 15 20 25 5 10 18 20 25

s H_TH
FITTTITTTT I IS TTI T I 1Y TTTTTTTTTT I T T T T T TIT
5 10 15 20 25 5 10 15 20 25
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10) Construct a box-and-whisker graph using the following data: )
oy

Y8V 1B, 1 36 BB 2 120341518 206

7212 /3)/1/ 1Y 1S IS 151G /6 717 /8 20

{n

Questions 11 through 14 refer to the following: (4_”‘[““—?{ - L e

f 1 U p...b,-r‘f.—;\.tw,.‘,,]r_,,“““k‘_}ﬂ‘a -,N-w:';?
O L N 17 T I R ﬁ

The accompanying box-and-whisker plot represents the scores earmed on a science test.

—{ 1T

* 1>
55 60 65 70 75 80 85 90 95100

11) According to the diagram shown, what is the median score?
A) 7 B) 70 C) 85 D)y 77

[

12) According to the diagram shggy\ what score represents the first quartile?
A) 55 (B) 70 C) 100 D) 75

13) What statement is nottrue about the box and whisker plot shown?

A)) 75 represents the mean score C) 85 represents the 3rd quartile
100 represents the maximum score D) 55 represents the minimum score

14) A score of an 85 on the box-and-whisker plot shown refers to

the third quartile C) the median
B) the maximum score D) the mean

15) (a) Arrange the following data from feastto greatestand find the median. /O - 5
;0/25;4%1/8,/1/9(,91,;/7/ (77 I%/{CI io/&i .;2'--(/&?5 o2
(b) Find the median of the upper half of the data. What is this called? 24, 5 &3
(c) Findthe median of the lower half of the data. What is this called? /2.5 Q/

(d) Draw a box-and-whisker graph using the above information.

T L
[/ (8 19 Jo S e b A A0 A iy



16)

17)

18)
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The accompanying histogram shows the heights of the students in Kyra's health class.
5
34 7
!
g2 5
e b
Height (cm)
What is the total number of students in the class?
A) 15 B) 209 D} 5
The accompanying histogram shows the height distribution for students in a high school
mathematics class.
" Height Distribution
£127
310
3 -
A 8T 2
G 67 (v
G 4 \
€ 2 | A l
5 1 Cp | H
= 151- 161- 171- 181- 191- o
160 170 180 180 200 P
Height (centimeters) Y
What is the total number of studen(s in the class?
A) 28 (\B) 26 C) 49 D) 11

Using the cumulative frequency table below, how many students received a test score between
a 70-79?

Scores on a Rench Test
Interval g:,‘:;ﬂlg;'c‘:’;
50-99 30
50-89 24
50-79 | (12D
50-69 12

Kﬁ 50-59 2
A) 0/ B) 80 C) 12 D) 26
.,,»‘//’

i
|
*,
S



Questions 19 through 21 refer to the following:

9852 -1-Page?7

The test scores for 20 students in a Spanish class are shown in the frequency table below.

19)

/7

Interval | Frequency
90-99 4
80-89 3
70-79 8
60-69 4
50-59 1

J—
0

According to the information shown, how many students received a score greater than a 697

20) The median lies in which interval of the frequency table shown?

[y -

/0= 79
21) The upper quartile lies in which interval of the frequency table shown?

0~ 87
22) Which of the following sets of data values could represent the box-and-whisker plot below?
— =
'3 6 0 12151821 24 27
AOA13; Q) 3,9,10, 12,16, 18, 21
-B}—3,-6:-9-12,1518;21— D) 3,9,10,11,13,15,18, 21
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23) The USA Track and Field Committee published the following report illustrating the comparison of
lap speed and finishing placement of several top relay teams.

Team Resulls in a 200 m Relay

i)

OANW-I-E-O'IO)"-JOQ

Average Speed of Each
Team's Relay Leg (m/sec)

18T 2ND 3RO 4TH
PLace Puace PLace PLACE

Team's Finishing Rank

Based onthe bar graph above, which of the following conclusions is most accurate?

\Ax\ The first-place team was twice as fast as the fourth-place team.
The fastest time for the 200-meter relay is 7 meters per second.
The first-place and second-place teams were closest in time to one another.
DL Every runner on the first-place team ran faster than the runners on the second-place team.

24) A television network wants to pilot.a new series in a city wit@@residents. They decided to
choose a random sample O@%ﬁ&abeople to determine the best time to run the series. The survey
asked participants to state what time of day they watched the most television. The table below
shows the results.

Time of Day ”‘;,'23;,';“
8 am-noon 162
ncon—-4 pm 187

4pm-7pm | (3220
7 pm=11 pm 258
11 pm-8 am 71

mo
Based on these results, approximately how many people in the city watch television between 4 pm
and 7 pm?
< A) 8,050 éeoéle) C) 14,500 people
B) 1,450 people D) 580 people

-

() 3905 2%, 0

)}



25)

26)

27)

9852 -1-Page 9
The Statistical Data Bureau published an analysis of incomes and expenditures of 100 average

families throughout the United States. The circle graph below represents the Rosen family's
monthly budget.

Rosen Family Buiget

Housing s 20
40% )

ff their total monthly income is $1,820, how much money do they spend each month on food?
A} $546 B) $728 C) $606 D) $182

The accompanying graph shows the amount of water left in Rover's water dish over a period of
time.

500 Amount of Water in Rover’s Water Dish

)

E 400

]

® 300

g \

© 200

)

[ =

3 100

E

<L

0 15 30 45 60 75 90 105

Time (seconds)

How long did Rover wait from the end of his first drink to the start of his second drink of water?

A) 60 sec (ﬁ)m C) 10sec D} 75 sec

Janae's first seven French grades for the year areél/é 88, 9 }&/ , and 90. What grade is at
the 75th percentile? ]/WX ?g %

A) 90 B) 78 C) 905

78 g0 95 &Y 90 91) 99



ST 2y xS k2 2ty S S5E Gy Vs
fi

28) Terri waitressed 10 days ut of the last two weeks. The amount of money she earned each day in

tips are $ $58, $\(, $\63 $78, $42, 388, $2~4 and $52. How much money is at the

50th percentlle’? .

A} 42 B) 69 C) 38 D} 4;7
29) The median of any set of data always represents the

A gglg_ej_r“wgg@_r}ﬂp C) mean of the data

B) 50th percentile™ Ty D) 1stquartile

9852 - 1 - Page 10

30) Ms. Michalson drew a box-and-whisker plot to represent her students' scores on a recent maih test.

17 58 70 85 9

if Jennifer scored a 85 on the test, explain how her grade compares with the rest of her class.

S‘je, :_,ﬂ .0 tg_(;/ ;':\.,{ K-(jf i// :j* a2 /3;1 & e K (“?,’(,él?_. .

Questions 31 through 34 refer to the following:

The number of text messages 10 different students sent in 1 day is shown in the box-and-whisker plot
below.

—] |

i I 1

T T T T T T T I
0 2 4 6 810121416 18 20 22

31) What is the minimum number of-text messages sent according to the plot shown?
A) 0 @ C) 20 D) 8

32) Whagp/uyber is at the 50th percentile according to the plot shown?

@ 12 B) 8 C) 14 D) 10

M e

33) According to the plot shown, between what two numbers does half of the data lie?
\y 10and 12 B 8and 12 @8and14 B)_ 2and 20

34) According to the plot shown, how many text messages are at the 75th percen’gile...(u;ggg_rw uartile)?

A) 15 B) 12 C) 135 . D) 14
. o

e
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Questions 35 through 37 refer to the following:

In order to pass a driver's safety course, a person must answer at least 45 out 50 questions correctly.
The cumulative histogram below gives the scares of a group of people who passed the exam.

Driver Safety Exam Scores

- of Passing Students
220 ‘
[
=
o
2
.
g
2
8
=
€
S ]

® PR R RS

rd
¢ W
Number of Questions Correct

35) According to the table shown, how many total people passed the driver's safety gxam?
A) 25 B) 57 C) 50 @

36) According to the table shown, how many people answered 49 questions correctly?
B) 9 C) 14 D) 41

37) According to the table shown, how many people received a score of 48 or less?

A) 23 C) 11 D) 25
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Name

FIVE-NUMBER SUMMARIES

In “Counting on Lemurs” on page 8, you analyzed box-and-whisker plots to draw conclusions about different lemur species.
Box-and-whisker plots use the five-number summary of a data set. The five-number summary includes the lower extreme,
upper extreme, lower quartile, upper quartile, and median. These values help you draw conclusions about the spread and
variability of a darta set.

EXAMPLE: Find the five-number summary of the following data set: 23, 14, 37, 9, 4, 32, 29

Step 1: Order the values from least to greatest: Step 4: Find the lower quartile—the median of the
4,9,14, 23, 29, 32, 37 values less than the middie value:
median

Step 2: Identify the lower extreme (the least value)

and upper extreme {the greatest value): 4@14, 23,29, 32, 37
Lower extreme: 4 |_|_|
Upper extreme: 37 values less values greater
than median than median
Step 3: Find the median, or middle value: Step 5: Find the upper gquartile—the median of the
iddl lue:
49, 141@ 29, 32, 37 values greater than the mldd e value
median
Note: [n a data set with an even number of values,
the median will be the average of the two middle 4,9, 14, 23, 29,@ 37
values.
values less values greater
than median than median
Find the five-number summaries of the following data sets.
Calvin received the following math exam grades this On a recent trip to the beach, Jaya collected seashells.
term: 94, 88, 57, 78, gﬁ, 78, 86,7 90, 92. The lengths of the seashells, in inches, were 2, 4, 2,3,

- 2, 4‘,;‘_1,_ and 3.
As What is the lower extreme of the data set? 5 /
A, What is the lower extreme of the data set? /

B. What is the upper extreme? 91'/ A/
B. What is the upper extreme?

C. What is the median’? ¥ g
C. What is the median? o , 5

D. What is the lower quartile? 7?
D. Whar is the lower quartile? A

E. What is the upper quartile? ? 3

-

'S

(SN

E. What is the upper quartile?

/) AR 33N
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Box~-and-Whisker Plots

Name

LEMURS WEIGH IN

In “Counting on Lemurs” on page 8, you practiced reading box-and-whisker plots. This type of graph displays the spread of a
data set so that you can easily spot the high, low, and median values. Use what you learned to answer five more questions about
the weights of different lemur species shown in the box-and-whisker plots below.

DISTRIBUTION OF ADULT WEIGHTS OF SELECT LEMUR SPECIES

Researchers regularly weigh every animal living at the Duke Lemur Center.
This box-and-whisker plot shows the distribution of mean adult weights by species.

ﬂJ i . ‘ Z:"ﬂ ’

Aye-aye } o

5

I

Mongoose 1 &
Lemur 1 g

o

=

Ring-Tailed 1 ] &
Lemur I - ! E

P

Coquerel’s 1 1 Q
Sifaka ! ’ 3

3

Red Ruffed \ é
Lemur I T

o

g

" ]

o] 2 25 3 35 4 45 5 55 6 65 7 75 g8 85 9 95 10 105 1 Nb E
DISTRIBUTION OF ADULT LEMUR WEIGHTS (poundis) %

(8

l Which species has a larger overall weight range: the
Which lemur species has the highest median weight? ring-tailed lemur or the red ruffed lemur?
’ -
C O v~ eVe LA J< e @ eol Ruofted Lem
Which species has the smallest difference between its How would you describe the weight distribution of
median weight and its lower extreme weight? the mongoose lemur?

Ve la b8 Lme o
Hohﬁoose LQV\-—\‘\J{’- P(Je{ \C"\" \r-\,a £

) ) i . P JC)IA L4 \ e \ e ¥ ‘ Lowyly
Which species has the largest difference between its erts o ‘ )

) . ; : N - : .
median weight and its upper extreme weight? the P € \\’,;n o8 bae O

) Ao u [ -f-‘
Coﬂu&«al - Swl\_'cé\ko\ (alo ut Jub\?ﬂ;m

APR“— 13; 2015 \él;’Vhe--Mat (i;efs R}a—\

wunat erhalaskicr cfAam fmath

PERMISSION GRANTED BY SCHOLASTIC MATH TG REPRODUCE THIS PAGE FOR CLASSROOM USE ONLY. 2015 BY SCHOLASTIC INC.



Unit M Review H

Name: Period: Date:
Probability & Statistics - Describing Quantitative Data — Worksheet |

1. Describe the shape of each graph as Unimodal, Bimodal, or Multimodal.

CYRS ] b) c)
%1 ‘
4 .
2
P 1
o ‘wrlm_,,i l Fﬂ" A ..
14 70 25 30 3 40 4% s4 Un N oola l Bty M (a1
E) § (\f‘\i?o({f-\‘ M o |,,h' S O (:;.( P l

2. Describe the shape of each graph as Uniform, Symmetric, or Skewed.

a) b) =
20 7 =

4 5 3 we

B '.. 2 L]
i 7 ®

", 4 ", i ',-:= ] *

e v ot e ak e w0

oo = i o) Gk
015 010 nns oon e a8 OIS

Drdainn V ™| "F‘W vy
3 \}/ rvvivy St l [ S]<@L,J€. 0{ L‘C(—*
3. The measure of the center of a histogram can sometimes be misleading. In a couple of

sentences, identify the shape of histograms where the measure of center can be useful and
identify the shape of hxstograms where the measure of center can be misleading.

oedot o0 i NO oot [V e”/ﬂ/ e ll cavve
’/IIKH( (,/} TRV :.:i'-"flfall . I ( é
4, In a couple of sentences, describe the shape of the followmg hlstograms (Us words like

unimodal, bimoedal, multimodal, uniform, symmetric, skewed left, or skewed right in
your description,)

e ;'\ . -("l"' '
Theoed 1o Sy e e
[CJI/Y\OFJ&\‘ \U{ ,--{-‘ooln-{

IO aps.2C i) S
Gre o No S



5.

Percent

Percent

25

20

%5

20

1]

Mow |55
Min 1S

Ka/\ e
ﬁ 7

L

Identify the center of the following graphs.
1€ cenler
(Use the number or range of numbers in the center)

a) b)
g 6 Skewness = 1.60

10

- ¢
£x

=
Frequency
o388 88333

T T T T T T T T T
N5 1200 126 130 135 140 145 150 155

welghts p

Identify the approximate maximum and minimum values of each graph, then calculate
the range for each set of data,

a) b)
£ Skewness = 1.60
0 80
_ J 70
L 60
- v g 50
\© 10 g 401
— r‘\‘() IE 30
5 5 2
7 19 10
0
T I I T T I T T I
115 120 125 130 135 140 145 160 155 Max |2 Measurement
. 1 |l‘ Fa) f
weights .
Rl
- Plafar Fraquency.
fo (iss- rr&) |
Describe any unusual (of special) 21
features of the graph to the right. it

o8 (13
Helght dnches)



When describing distributions below include shape, center, spread, and special
features; be very specific. Include what is happening as well as where it is
happening. Remember, a picture is worth a thousand words.

8. Sugarin cereals. The histogram displays the sugar
content (as a percent of weight) of 49 brands of breakfast

cereals.
al— —
L
s -
2—
I_!'_l_ f-!
0 8 16 24 32 40 48 56

Sﬁﬁ(%)\/ Ve Bt\mOOQﬂ--l

a) Describe the distribution. (shape, center, spread, unusual features) 26 ) “t
b) What (in real life) do you think might-account for this shape? APS &r ~f
A M-8 Tes.. o A

FT"Z"i -L.ﬂ-t_,t? E/j_if‘ ,/;f!:‘,:,‘: —~

9. Vineyards. The histogram shows the sizes (in acres) of ! o o Gepnaile

36 vineyards in the Finger Lakes region of New York. ¢ ‘o~

< S;tfﬁ(*’a( C e, ,af;.) o

15 |-
aqpprax Cokt

g - ~
\ + ’L/O"‘,,\_,P f....: k f:f\,r-’(,(’{ A’\-G}i‘:‘r '

C 2% hY [ VAR -l'r"‘\'..- L
Cr A‘p / ‘

- t,

0 3 & 17y g ot ez
Size (acres) UL

P ey D (I-“‘ . \

6 a ¥
a} Describe the distribution. (shape, center, spread, unusual features) ,
b) Approximately what percentage of these vinyards are under 60 acres‘? o L/_, Vv

~tAde B0~ (w0
<78 A) L '+{«/r?.--p

¢ 20




10. Heart attack stays. The histogram shows the lengths of
hospital stays (in days) for all the female patients admitted
to hospitals in New York during one year with a primary
diagnosis of acute myocardial infarction (heart attack).

600 —
§ 400
g
i
= 200
L]
sl J 1
i ¥ |
0 5 10 156 20 25 30 35 40
Stay idaye) |
) k@bu Q/V{ JJ\/‘"?A“* ) ‘r..) P -\f_ﬁc}‘ Fal \ /, )
a) Describe the distribution. (shape, center, spread, unusual features) W”ﬂ melepaeas 3G da ‘-/S _
b) From the histogram, would you expect the mean or median to be larger? Explain. M eove b / .
c) Why do you think there are so many people who stay for only one day? tAead ok
_T:) "‘"Q/\'A\‘ {-"-"'f’a"\—-‘-"fﬂ A t‘ N ('}Qrim¢~‘c.'¥"\-1-—45’\.}-(:5‘,- -“'{ Fo 2N (‘_}{_A.ﬁ;.-a( Q‘m\’(i\: LLQ’L'Q eto {"j e.
~ ¢ ,n-l‘u\ﬂf}i-i’-‘i" y P LA %
11. E-mails. A university teacher saved every e-mail re- A hsgeen
ceived from students in a large Introductory Statistics class Co e
during an entire term. He then counted, for each student o wq
. . . AAppdA ey ©
who had sent him at least one e-mail, how many e-mails ppres
each student had sent.
)]
g 60
- 40
L
20
i i =
nooo% A
¥ of Exmall “Kewce et
B Ay £ N F
a) Describe the distribution. (shape, center, spread, unusual features) Conlen |
b) From the histogram, would you expect the mean or median to be larger? Explain. -~ |2

e AL
(4-\)



